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RolINO. ...ccovrernrnnnns . 143/B
Total No. of Questions : 24] [Total No. of Printed Pages : 8
, SS ’
- 2038
AT udtfonr yast

BUSINESS ECONOMICSAND QUANTITATIVE METHODS-II
(Commerce Group)
(Punjabi, Hindi and English Versions)
. (Evening Session)
Time allowed : Three hours : Maximum marks : 65
(Punjabi Version)

3 : (i) nut §39-U3dt € oEles U8 3 femrds/dug-ds 8 wo &9 fem-a3/lud-as
143/B #gg €ad o9 At |

(i) B3oUzdt 8¢ ot fom € U8 fore & Qv 36 fa for o odles AlUz 30 U8 o5
W3 3ld gHe'T I |

(iii) B3I T wst a8 83 3 gme I8 13 I8 YHs/YHST T NS 3dt
i3 wear |

(iv) YAG U39 g9 gran feg fewr famr & @€, IO-w, IU-E, »3 FE-H) |

(v) S8 : %anaal?sééara@aqnaﬁawwééaﬁﬁawﬁw.
1-15 meger &g 84 |

(vi) 3E-M : g YAs & 6 3 12 39 I, IoF yHe 2 e € I, gt €T §39
5-10 st feg fag |

(vii) FE-E : %aqnaﬁl3é‘21§aéaﬁa@aqna4b?af?ééwléﬁ7%
96 Hgdt Is | fegst € €39 15-20 Ifest g fe§ | =

(viiz)?lar—rr:%an?sz?zz-%aa»ﬁeaaﬁ‘é‘ze@maaaqméww
Jear gt € 8§39 3-5 Ufewr &g fag |

(ix) BF aHg fo39 g6 |

(x) UMt 3 faai AUgE dBg@ed @93E T wifamm I | fefonradt musr dsaded
Yitmm 35 &g fonBe | fEa g/ 3° Haie ©F wifgmr adt Jeart |

Fa-g

1. G3uws ¥ ¥8 uzT o9 # feddt 1,500 quB, HgWEt mee 300 JuE w3 wWizH med

100 gug J2 ? . 1
2. "ad® FOPEG HIBS ot I 7 I
3. S9% UmgHs emdr fd3r ferHs qeid & J’e € H3d ¥R S
4. W AT ot I ? 1
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5. wvofaa 3tFt i WzaeHa fedint Rg™ fart fea fedt = & fou |

(2)

Sik}=5
CACI= )
6. poaa fég =Pi © o wow I ? 2
7. wraet Qudsht ergmi ot JEtmi g5 ? Geggel a® fenifim 39 2
8. WY Wedl ot gt I ? 2
9. Js fag 32 3 Hitm@r uzr 49 2
6, 10, 8, 14, 12
10. WiheRs & wfg Wio Rt @ © =9 feu | 2
11. femeg ¥ & U3T IG5 € HIF o I 7 2
12. 9% Var &t 3 ? 2
Tx2=14
AT
13.X€?Y@%tgﬁxmmﬂaa€w@ 4
X |4 |5 |6 |8 |11
Y J12.-110 8 T 195
14.%@%%%%%@%%%?%@%@@&??
Aeer & ? ggoT a9 | 4
15. A3f®3 wwe ¥ ¥9 3 &g | 4
‘16, I3t i3 32 I =B € uIT A9 ¢ . 4
wq 0-10] 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
fefenrggtn <t forest | 5 7 12 15 18 8 3 5
17. Jat &3 32 3* Whg wu9 godid famg a9 . 4
S 2010 | 2011 | 2012 | 2013 2014 2015
g3uws 25 27 30 24 28 29
18. &9 w3 Wufouzas ©t Wy fedt 3, fowrfmr 9 | 4
19. Jaf f&ft At 3 v fegse Uz a9 ¢ 4
}Eggﬁ‘fgué) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Hagar €t forest | 6 10 20 40 30 20 10 4
20. J5 feftmi 37 IHeT »HES W3 WIT »HES UIT T9 4
Het ECGERGUE
@ feowt 3 yuz Hu TS 1,500
) =g 1,200
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(3)

(8 fumfaz »mes 1,510
(m) fowma 1,000
@ ey 2,000
@ IS 900
21. &35 wUfd3 a9 W3 WS wufgs 99 o 9 ? 4
Tx4=28
SA-H
22. f3m drea ot @ ? fem &t goafedt & fenfir 39 | 6
| G
g ot & ? fome &t S T ? 6
23. Jo f&g 3¢ 3 »iggH Hud Wa fop3 49 | 6
CLEC g Ag IS H'S
e S I3 S
() (qud) (que) (qud)
A 10 80 6 12
B 12 144 6 24
C 6 60 2 16
D 2 8 4 48
o
E3uw et o gwedt wves fae it wet 3, fewrfr a3 | 6
24. I5 fodt woet Re wigmrs wifedni Uz 99 & N=100 »3 Him@r =30 &® ? 6
ma 0-10 10-20 | 20-30 | 30-40 | 40-50.|50-60
fefenragv &t forest 10 ? 25 30 ? 10
i
I fest Aot R 9% werdt, fam 9 U W3 »ige g Js, i & GHa 3 fepdtdizsr
feg ot 99u T ? | 6
g fenagmt &t forest | 9
RLICURCE]
0-10 100 16
10-20 50 6
20-30 40 - 10
30-40 80 8
40-50 20 4
50-60 10 2
3x6=18
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(4)

(Hindi Version)
Fie : (i) ST FA-GRawE F §ET I T A9F-Fe A9-Fi8 ak @ 4 AvF-Fisque-Fs 143/B s@ed
frg ]
(ii) FI-YRawr dd & g% yo et 3 & % 369 arged dled 30 7 & 0 @el #4 4 &1
(iti) FIv-YRaw T @A 818 T TS/9%  Y9Arq &7 B T4 g9/ F qABT TEI 4T AN |
(iv) 597 95 & 9% 970 & arer T 81 (9%, -8, 9T, ST 9F-g) |
(v) uM-%: Fy97 7. 185 &am 59% 997 1 3% 37 8, g7 7 1-15 915 7 fo@h :
(vi) -9 : F 597 7. 6 @ 12 7% &, 59% 997 2 3% F &1, 9% a7 5-10 i 7 R
(vii) S : F g97 7. 13 @ 21 7@ &7, 59% 997 4 3% & &, 379 @ 3 7 J57 B, 9% Fo7
15-20 st 5 g
(viii) M-8 : 7 997 9. 22 @ 24 % F3&H Qe a &, J9% 997 6 Si% F &N, FvE IaT
3-5 9=t 7 ford
(ix) oT@Yd & SFaR 3 95 |
(x) arErer % (Calculator) #1591 #7713 &8 1 Tharl or9ar 9% e 97 & dat ord | 37

@& FE G AT B AT TE &
- ,
1. SERT & 9 9 B0 ak fep 1,500 9@, geerd ®fF 300 w93 Sl aifw w@iE
100 %93 =} : |
2. T YA A9 S 7 gt 1
3. et REEs Ew RE T R e B oA w H g T | N 1
4. we-g qE ? 1
5. A i @ e RRE 3 @ Rl o B @ T R 1
S%1=5
g
6. THSH IPi @ w ad B ? .
7. o SUNRT a%g @ A § 7 SEmede feq e X | 2
8, wEgmEe? ' 2
9. 9 @ ot @ it T F 2
 6, 10, 8, 14, 12

10. whoeie # we-gery Bl 3 @ AW R 2
11. RER % 0% W@ & G R/ e ? B 2
12. gaAmane? , 2
7x2=14
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(5)
HR-T
13. X &t Y W oforme i s e 4
X| 4 5| 6| 8] 11
Y| 12/ 10] 8] 7| 5
14. TqEr fesr & AR 90 91 FRY & SR W G & ERer &8 R o @ 8 2 9= &7
4
15. g so1e % Hig =X @ el | 4
16. @ Ru et @ gas 79 H 4
3 0-10 | 10-20 | 20-30 | 30-40( 40-50 [ 50-60 | 60-70 | 70-80
foenfelat &t @ | S 7 12 s 18 8 3 5
17. 99 Ru srwel & ReR SR goFis TaR 1 4
IS 2010 | 2011 | 2012- | 2013 2014 2015
e 25 27 30 28 29
18, ¥ %X wr@ Mg ) ge Rl B, e w1 4
19. 9 & B ER @ Y9 e S| B _ 4
worgdt (94 /) | 0~10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-601 60-70 | 70-80
TG e 6 10 20 40 30 20 v 10 4
20. R frd oifwel @ U o SR Ry T S A - 4
= TR (FsT )
(®) frl § o< = o A 1,500
(@) 1,200
(m) PlPE o 1,510
(@) = 1,000
(®) ™ 2,000
(@) wm 900
21. IO STHMRA FX AR TF SAEIRG FX M 8 7 4
7x4=28
R4
22. TRY T F 2 O SuH FERRY e U 6
ERC|
¥ it aRT fordl | % & w7 6
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(6) .
23. 9 Ru st & amest gos® 59 F4 - 6
s e ay - I ay
LA P S
(ew) (W) (5)  (¥m)
A 10 80 6 12
B 12 144 6 24
C 6 60 2 16
D 2 8 4 48
STdT ;
SR O & UK e B9 W S Wi ¢ 7 e F 6
24, F= & E el § o@a ARkl 9@ H0 alk N=100 r @iftaer = 30 & 6
S 0-10 | 10-20 |20-30 | 3040 | 40-50 | 50-60
et den 10 ? 25 30 ? 10
ST
A & Aol A g omerer e Q@ IR A OFY § ar I 99 iR gfedar § ar Ty & 6
g ATl H FE Y
g A
0-10 100 16
10-20 50 6
20-30 40 10
30-40 80 8
40-50 20 4
50-60 10 2
3x6=18
(English Version)
Note : (i) You must write the subject-code/paper-code 143/B in the box provided on the title
page of your answer-book.
(ii) Make sure that the answer-book contains 30 pages (including title page) and are
properly serialed as soon as you receive it. v
(iti) Question/s attempted after leaving blank page/s in the answer-book would not be
evaluated.
(iv) Question paper has been divided into 4 parts. Part-A, Part-B, Part-C and Part-D.
(v) Part—A : will consist of question no. 1 to 5 one mark each. Answer should be in 1-15
words. \
(vi) Part-B : will consist of question no. 6 to 12 of two marks each. Answer should be in 5
to 10 lines. _
(vii) Part-C : will consist of question no. 13 to 21. Each question carries 4 marks. Answer
- should be in 15-20 lines. Attempt any 7 questions from this section.
143/B-SS
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(7)

(viii) Part=D : will consist of question no. 22 to 24 having internal choice. Each question
~carries 6 marks. Answer should be in 3-5 pages.
(ix) Make diagrams where necessary.
(x) The use of non programmable simple calculator is allowed. The student should bring

their own calculator in the examination hall. No. borrowing will be permitted.
~ Part-A

1. Find the value of output if Sales Rs. 1,500/-, opening stock Rs. 300/- and closing stock
Rs. 100/-. 1
2.  Whatis favourable balance of payment ? 1
3.  Give the formula of calculating Skewness given by Karl Pearson. 1
4. Whatis Correlation ? 1
5.  Write down any one name of Qualitative methods of monetary policy. 1
5x1=5
Part-B
6. What is meaning of XZPi inIndex number ? ‘ 2
7.  What are the non-durable consumer goods ? Explain with examples. 2
8. . What is the meaning of Credit Money ? 2
9. Find the median from the following data : 2
6, 10, 8, 14, 12
10. Write down the two advantages of Spearman’s Rank Correlation method. 2
11. What is the formula of calculating Co-efficient of Range ? 2
12. Whatis aggregate demand ? 2
Tx2=14
Part-C
13. Fitregression equationof XonY : . s 4
X114 |56 ]8]11 g
Y | 121048} 715 :
14. Explain how can the equilibrium be determined according to classical approach on the basis of
savings and investments. 4
15. Write down the four advantages of Balanced Budget. -
16. Find the mode from the following data : 4
Marks 0-1010-20 | 20-30] 30-40 | 40-50 [ 50-60 | 60-70 | 70-80
Number of Students | 5 7 12 15 18 8 3 -
17. Construct fixed base index number from the following data : 4
Year 2010 | 2011 | 2012 | 2013 | 2014 | 2015
Production | 25 27 30 24 28 29
18. Explain How Bank Rate is the main tool of Credit control ? +
19. Calculate the Standard Deviation from the following table : . 4
Wages (in Rupees) [0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
‘No. of Workers 6 10 20 40 30 20 10 4
143/B-SS [Turn over
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e St B e e

|
l

20.

21.

22,

23.

24.

(8)

Find out the National Income and Domestic income from the following :

Items Rs. Crores
(a) Net factor income from Abroad 1,500
(b) Profits 1,200
(¢) Mixed Income 1,510
(d) Interest 1,000
(e) Salary 2,000
(f) Rent 900
What is the Specific Tax and Value Added Tax ?

Part-D
What is investment multiplier and explain its working ?
or

Define Bank. What are the functions of Bank ?
Calculate the Ideal Index number from the following data.

Commodity Previous Current Year
Price Value Price Value
in Rs. in Rs. in Rs. inRs.

A 10 80 6 12
B 12 144 6 24
C 6 60 2 16
D 2 8 4 48

: or
How will you measure National Income by product method ?

Find the missing frequency in the following table if N is 100 and Median 30.
Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Number of Students 10 ? 25 30 ? 10

| or

Tx4=28

The following table gives the distribution of total population of those who are wholly or partially
blind among them. Find out if there is any relation between age and blindness.

Age No. of persons Blind
in thousands

0-10 100 16
10-20 50 6
20-30 40 10
30-40 80 8
40-50 20 4
50-60 10 2
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